[bookmark: _GoBack]S3 Table. Summary of the findings of the ADC-components.
	Experiment 1: Syphilis
	Experiment 2: Syphilis
	Experiment 2: Airplane

	Effects of A
	Effects of A
	Effects of A

	Strength: Medium effect
	Strength: Medium effect
	Strength: Smallest effect

	Simple slope tests
	Simple slope tests
	Simple slope tests

	line 1 D+C+): sig. positive
	line 1 D+C+): sig. positive
	line 1 D+C+): no effect

	line 2 (D+C-): sig. positive
	line 2 (D+C-): sig. positive
	line 2 (D+C-): sig. positive

	line 3 (D-C+): sig. positive
	line 3 (D-C+): sig. positive
	line 3 (D-C+): sig. positive

	line 4 (C-D-): sig. positive
	line 4 (C-D-): no effect
	line 4 (C-D-): sig. positive

	
	
	

	Slope difference tests
	Slope difference tests
	Slope difference tests

	line 1 (D+C+) = line 2 (D+C-)
	line 1 (D+C+) = line 2 (D+C-)
	line 1 (D+C+) = line 2 (D+C-)

	line 1 (D+C+)  line 3 (D-C+)
	line 1 (D+C+)  line 3 (D-C+)
	line 1 (D+C+) = line 3 (D-C+)

	line 1 (D+C+)  line 4 (C-D-)
	line 1 (D+C+)  line 4 (C-D-)
	line 1 (D+C+) = line 4 (C-D-)

	line 2 (D+C-)  line 3 (D-C+)
	line 2 (D+C-)  line 3 (D-C+)
	line 2 (D+C-) = line 3 (D-C+)

	line 2 (D+C-)  line 4 (C-D-)
	line 2 (D+C-)  line 4 (C-D-)
	line 2 (D+C-)  line 4 (C-D-)

	line 3 (D-C+)  line 4 (C-D-)
	line 3 (D-C+)  line 4 (C-D-)
	line 3 (D-C+) = line 4 (C-D-)

	
	
	

	Effects of D
	Effects of D
	Effects of D

	Strength: Largest effect
	Strength: Largest effect
	Strength: Medium effect

	
	
	

	Simple slope tests
	Simple slope tests
	Simple slope tests

	line 1 (A+C+): sig. positive
	line 1 (A+C+): sig. positive
	line 1 (A+C+): sig. positive

	line 2 (A-C+): sig. positive
	line 2 (A-C+): sig. positive
	line 2 (A-C+): sig. positive

	line 3 (A+C-): sig. positive
	line 3 (A+C-): sig. positive
	line 3 (A+C-): sig. positive

	line 4 (A-C-): sig. positive
	line 4 (A-C-): sig. positive
	line 4 (A-C-): sig. positive

	
	
	

	Slope difference tests
	Slope difference tests
	Slope difference tests

	line 1 (A+C+)  line 2 (A-C+)
	line 1 (A+C+)  line 2 (A-C+)
	line 1 (A+C+) = line 2 (A-C+)

	line 1 (A+C+)  line 3 (A+C-)
	line 1 (A+C+)  line 3 (A+C-)
	line 1 (A+C+) = line 3 (A+C-)

	line 1 (A+C+)  line 4 (A-C-)
	line 1 (A+C+)  line 4 (A-C-)
	line 1 (A+C+)  line 4 (A-C-)

	line 2 (A-C+)  line 3 (A+C-)
	line 2 (A-C+)  line 3 (A+C-)
	line 2 (A-C+) = line 3 (A+C-)

	line 2 (A-C+) = line 4 (A-C-)
	line 2 (A-C+) = line 4 (A-C-)
	line 2 (A-C+)  line 4 (A-C-)

	line 3 (A+C-)  line 4 (A-C-)
	line 3 (A+C-)  line 4 (A-C-)
	line 3 (A+C-) = line 4 (A-C-)

	
	
	

	Effects of C
	Effects of C
	Effects of C

	Strength: Smallest effect
	Strength: Smallest effect
	Strength: Largest effect

	
	
	

	Simple slope tests
	Simple slope tests
	Simple slope tests

	line 1 (A+D+): sig. positive
	line 1 (A+D+): marginal sig.
	line 1 (A+D+): sig. positive

	line 2 (A-D+): no effect
	line 2 (A-D+): sig. positive
	line 2 (A-D+): sig. positive

	line 3 (A+D-): sig. positive
	line 3 (A+D-): sig. positive
	line 3 (A+D-): sig. positive

	line 4 (A-D-): sig. positive
	line 4 (A-D-): sig. positive
	line 4 (A-D-): sig. positive

	
	
	

	Slope difference tests
	Slope difference tests
	Slope difference tests

	line 1 (A+D+) = line 2 (A-D+)
	line 1 (A+D+) = line 2 (A-D+)
	line 1 (A+D+) = line 2 (A-D+)

	line 1 (A+D+)  line 3 (A+D-)
	line 1 (A+D+)  line 3 (A+D-)
	line 1 (A+D+) = line 3 (A+D-)

	line 1 (A+D+) = line 4 (A-D-)
	line 1 (A+D+) = line 4 (A-D-)
	line 1 (A+D+) = line 4 (A-D-)

	line 2 (A-D+)  line 3 (A+D-)
	line 2 (A-D+)  line 3 (A+D-)
	line 2 (A-D+)  line 3 (A+D-)

	line 2 (A-D+) = line 4 (A-D-)
	line 2 (A-D+) = line 4 (A-D-)
	line 2 (A-D+)  line 4 (A-D-)

	line 3 (A+D-)  line 4 (A-D-)
	line 3 (A+D-)  line 4 (A-D-)
	line 3 (A+D-) = line 4 (A-D-)

	
	
	


Note: “” the ascent of the line before the sign is steeper than the line behind (respectively “=” equal or flatter “”).

